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Show that the curvature along the binormal indicatrix is 
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Show that the unit binormal of the involute 
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so let’s find a way to calculate 
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But we have already find that,
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Therefore, inserting it in the equation we get:
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Find the equation of the involute of the helix 
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First of all, we have to check if 
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Now let’s calculate 
[image: image37.wmf]t

r

,



[image: image38.wmf]3

2

2

2

2

2

2

2

1

2

2

2

2

.

.

cos

.

sin

)

(

)

(

e

b

a

b

e

b

a

s

b

a

a

e

b

a

s

b

a

a

s

s

t

r

r

r

&

r

r

+

+

÷

÷

ø

ö

ç

ç

è

æ

+

+

+

÷

÷

ø

ö

ç

ç

è

æ

+

+

-

=

=

a



The involute of the 
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 is a constant, then:
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The involute of the 
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a) Show that the distance between corresponding points on two Bertrand curves is constant.
b) Show that the angle between corresponding tangent lines on two Bertrand curves is constant.

c) Prove that the product of the torsions of two Bertrand curves is constant.
SOLUTIONS
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